MATHEMATICS
Paper - II Differential Equations

Time Allowed : Three Hours . M. M.:75
” Part-A (Compulsory) - [Marks: 10]
AT- 3 ( ) -
1. (@ Obtain one complementary function of following"differential .

(b)

M)

L de dy _dz ;

equation: _
fr=fifaa sfadbal THIDRUI B TP X Bl Siid Do

d’y 2 dy .

—_— X —+XxXy=X

& d |
Give definition of Exact linear differential equation of nth order.

A P D aeret ¥R et SIHT B TRA AR |
Solve';za'c\?fﬁlﬁ:

y x z . . 4
Give definition.of Gauss Hypergeometric Equation.
TiFg SRS FHRoT GRfo ol
Obtain(. e Hifod:
L(sinax; p)

Give defimition of Nall function. I WerT & g R |
Obtain order and degree of following partial differential equation:
et :a/uﬁw el IR A1 P AN T S PR
Pz _, 0z Pz 1 |
oy  oxdyt ooy x*
If f(x, Y, Z, P, @ =0, then write Charpit's auxiliary equation.
afg f(x, Y, 2, p,@:Oﬁ?haRﬁzﬂmWﬁrﬁaﬁl
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(x-a)’+(y-b)?+ z2=¢2
(i) Solve (g1 P

o'z &'z

ax4 - av4
- () - Write Monge's subsidiary equation.

Ao & o TR il |

Part - B (Compulsory)
(AT — 9 (Irfrard))

2. Solve (&a1 HIfRA)-

=0

xi[xﬂ— v) —2xQ+2v+x2v =0
dce\ dx - dx )

3. Solve (ga1 ISR
tDx=t-2x
tDy=tx+ty+2x-t¢ .
4.  Findthe Laplace transform of xe%&Sin bu.
x e sin bx BT ATl BT STE DR |
. Solve by Laplace transfofm: eI w9T=R J gt SR

*

— =2x-3y %=y—2x,x(0)=8,y(0)=3

6. Solve (&a1 B)fod)— XT + p = 9xy*
Part-C (91-%)
Unit - I (F®13-1)

7. (@)  Us¢'themiethod of variation of parameters to solve the following:

graer-fdarur fafe g1 g o
dz_v_ 2
ax*: y_l+e’

() Solve (&a HISA)-

Or ( 31var)

8. (@) Solve (53 PRR)-
3x4dx + 3ydy - (x* + Y’ +e)dz=0

(®)  Solve (&1 BN
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d’ ‘
4 aﬁv+2vsmx:—0

SINX—=-— cos x —
dx’ dx
Unit - 1T (g@1$—1I)
9. @ Obtam series solution of following equation : |

' PrefiRes e o1 S0 T 9 AR
x* c;;r 62; ( -n )y 0
() Find : T4 SIS
. 4P+5 \
(P-1)(P+2)
| | Or ( 31U41)
10.(a)  Solve : &l DI | .
DO*-D*-D+ 1)y = 8te’!
®) Prove that : Rig B2 :
. cosat= cosbt. }__1_ g(p2+b )
{ d , 2 - kpz+a2
; Umt-l]I(stﬂé;f_m)
11.(a) Solye &) DI
B—X¥P-YA= ayx> +y + 2
(b Solve : T PIH:
Ty =®
- Or (tgar)
-12 @) Solve : & HifoA:
pt-gs=¢’
(b) Solve : &1

18z 18
Fal P Yo Yo
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